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@® 3280 x0.08 @ 32800 x 0.008 ® 328x0.8
@ 32.8x38 (@)328 x 0.08
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@D 3280 x 0.08 = 262.4

@ 32800 x 0.008 = 262.4

® 328 x0.8 =262.4

@ 32.8%x8=262.4

® 328 x0.08 = 26.24
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@ 0.27x43 = 0.1161
@27 x 4.3 =116.1

D 2.7x0.43 =11.61
@ 27x0.43 = 1.161

® 0.027 x 43 = 0.1161
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® 27x0.43 = 11.61
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@ 49.1 x 358 = 175.778 @ 4910 x 0.358 = 175.778
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® 491 x 0.0358 = 175.778

@D 49.1 x 358 = 17577.8
@ 4910 x 0.358 = 1757.78

@ 491 x 3.58 = 1757.78
® 491 x 0.0358 = 17.5778
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176248 = 43648 Y2 &1, th-& Atol] 284S EA B2 A&
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@D 176 x 0.248 = 43.648 @ 0.176 x 248 = 43.648
® 176 x 24.8 = 4364.8 @17.6 X 248 = 4.3648

® 1.76 x 24.8 = 43.648

176 x 248 = 43648
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76 X 8><10 3648 0
17.6 x 248 = 4364.8
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@ 29.5x[ | =53100
@ 2.95x| |=531

@D x 18 = 5.31
® [ |x0.18=531
® [ ]x0.18 =531
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0.7=0.7
0.7x0.7=10.49
0.7%x0.7x 0.7 =0.343
0.7x0.7x0.7%x 0.7 = 0.2401
0.7x0.7x0.7%x0.7x 0.7 = 0.16807
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